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o (4853 0 — Jlgis 8) 45 03
61 | Robert: Do you celebrate .............. holidays in your country?
Navid: Yes, we usually celebrate them like Fitr Eid.
1) weekly 2) religious 3) nuclear 4) Iranian
62 | My mother showed .............. howW....cooe v this computer dictionary.
1) his- to use 2) me- to use 3) her- using 4) I- using
63 | Which sentence is correct?

1) They never plays in the park.

2) They doesn't play in the park.

3) He never plays in the park.

4) He doesn't never play in the park

64 | e lost people? The police...................
1)who helped/do 2)who does help/ does
3)who helps/does 4)who helps/do

65 | My cousin works in Imam Reza hospital ER. He .........
1) saves people's lives 2) puts out fire

3) makes special food 4) helps lost children










